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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

1018836

4)

93|15022

7)
4312049

2)

1511365

5)

69|7107

8)

397734

3)

6)

9)

96(1858

905257

2111764

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 883r6 2) 91 3) 19r34 . 883r6
108836 151365 96(1858 |
0 0 0 2. 91
88 13 18
80 0 0 3. 19r34
83 136 185 ) 5
80 135 96
36 15 898 5. 103
30 15 864
6 0 34 6. 58 r37
4) 54 5) 103 6) 58r37 i
935022 697107 90[5257 s 198r12
0 0 0
50 71 52 9 84
0 69 0
502 20 525
465 0 450
372 207 757
372 207 720
0 0 37
7) 47128 8) 198r12 9) 84
432049 39(7734 21[1764
0 0 0
20 77 17
0 39 0
204 383 176
172 351 168
329 324 - 84
301 312 84
28 12 0
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# Vertical Division with a Helper Grid Name:

Solve each problem. Answers
54 91 84 103 883 r6 19r34
47 r28 198 r12 58 r37 1
1) 2) 3)

1018836 1511365 96(1858

4) 5) 6) 8.

93|15022 69|7107 9290|5257 o

7) 8) 9)

4312049 397734 2111764
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